H#RUNZ / Components

No. 2 %5 / Part name = / Pcs #ME / Material & - RELIE / Color-Finish
1 =~V HRIR 2 TILSHRH A A6063S-T5 YWN=TIWRAb, T F99TLRAR
Heat—sink side plate Extruded aluminium A6063S-T5 Silver anodized , Black anodized
2 AC 917 2 T ILSHH A A6063S-T5 ATFAVYNIN =T WAL, ATFTAVT F9IT NI
Panel Extruded aluminium A6063S-T5 Hairline brushed Silver anodized , Hairline brushed Black anodized
3 KIER 2 T ILEAR A1050P ATV =TLRAR , ATFAVT 99T MAR
Top cover , Bottom cover Aluminium A1050P Hairline brushed Silver anodized , Hairline brushed Black anodized
4 EFE£ & / Corner support 4 #llgR SPCC / Steel SPCC ={fiyA—} / Trivalent chromate
5 L2 / Rubber feet RIYr9LAR> / Polyurethane 7599 / Black
6 HAFE R (M3 x 6 H3) 16 EoS ok ik ZflBI0A-+
Screw (M3 - 6 Countersunk) Steel Nickel plated , Black trivalent chromate
7 ERATE R (M3 x 5 FE{F3L0) 12 &% ZyrlivE @204+
Screw (M3 — 5 Slotted raised countersunk) Steel Nickel plated , Black trivalent chromate

* LR XEBDSAICEEYMRITTEES,

* Adhesive rubber feet in cluded.

fh/Title
P OC]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. HEAT-SINK ALUMINIUM ENCLOSURE
{4 (BUZEXREDO) / Color type (End of product numberd) #2/Approved | #&Rl/Checked BI[/Created | E4F/Product number RE/Seale
iC5 / Code £ / Color HY44-28-330
Ss S JLIN— / Silver iR T (320 " s
BB 7574 / Black YERLH /Date 2017/06/08




E—r oI 1E]
Heat-sink side platel side

330

44

5.6

o

(000000000000000000,0000000000000000000

N3 JL248
Rear panel side

280

(000000000000000000%0000000000000000000

AE AL
Front panel side

B-B(1:4)

(-

ATk / Max dim. 236

E—r oo RIR 24

Heat—sink side plate2 side

]
|

8-M3 (L v—L BT A)
8-M3 (Hole for mounting plate)

A-A(1:4)

A#~ti% / Max dim. 36
E#Ti% / Max dim. 32

= [
j— (=1
j—] [
D S Hs
jo— [
jo— [
jo— e
= (=)
= [l
< o j=3 [am]
N o jo—] [
™ [S¢) j— [
. . jo— [
© © = (e
< < = [=1
© © (=1 [==1
= 3 = = £
™ je=] [l
- - jo— [
H #H S S
1—. 1— = )|
e e jo] [
] ] o o
S S (o) [
T T S S
f— |
S 2065
= =)
j— [l
f=1 © (=]
jo—] [
) S g OS
] N [
L] = S
b ) ]
115 115
13
w4/ Title

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

HEE—b o5 —R
HEAT-SINK ALUMINIUM ENCLOSURE

o]

7R/ Approved 18X/ Checked X /Created

iR ES A

24 /Product number RE/Scale
HY44-28-3301 1:4
feFB/Date  2017/06/08 2 /5




12.5 9.8 279 9.8 12.5

~ o M3
= oA
& 25 | 51 ©
21 3236
U= AR L

SUUUUUUUUUUUUUUUUUUMUUUUUUUUUUUUUUUUUU™

nmnnnnnnaannnnnaAANNNNNNLS

1 LEHTEM RN AR AR AR

“TUUIIUUUUUUUUUUUUUUUUUUUUUUUIII ™

W79 =h)LT—74 / Technical Datall
EJEH{E / Thermal resistance : 1.89 °C / W

EMEIMBIX D/ A MEICEE. BE L F60°CORDIE

*Thermal resistance calculation is based on the fins being perpendicular to the ground with temperature at 60°C

13

288.8

10

13

E—hr U811 / Heat-sink side platel

E—hr2 U HMI#R2 / Heat-sink side plate2

4-M3

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
E—r VIR

Heat-sink side plate

o]

£2/Approved

iR

X/ Checked

T

#[/Created

A

24 /Product number RE/Scale
H44 - D330 1:3
feFB/Date  2017/06/08 3/5




2-M3FHY IR
2-M3 Countersunk

<
3
4-R2
©
©
2-M3FAY SR

2-M3 Countersunk

2-M3

7Y
@
oY
&

280

A~ti%k / Max dim. 236

2-M3
Tes Y|
L2 X
434 167.4 434
e oyl
18 S
Te a1
LY |

N
™
£
el
3
=
~
H 269.7
1
R
T o~
N
™
N
AFSAUHR JX4~JL1 / Front panel
Hairline brushed direction
/X% JL2 / Rear panel
R4/ Title
TAKACH) #=t&#tsnF BHTH R o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD Front panel , Rear panel
758/Approved | 1&R/Checked | BUE/Created | Z%/Product number RE/Scale
W280 - H44 1:3
iR E3 (320 4/ 5
{ER B /Date 2017/06/08




KR / Top cover

A%h~Ti% / Max dim. 300

JE#X / Bottom cover

A#h~ti% / Max dim. 236

(000000000000000000.,0000000000000000000

0000000000000000000°0000000000000000000

R / Front side

(000000000000000000,0000000000000000000

(000000000000000000°0000000000000000000

Wt
=]
~
n
3
s
3
(ad
2
o
[}

fREEL—MA

Surface protective film side

AT SAVHR

Hairline brushed direction

RE—MA

Surface protective film side

NTIAVHR

Hairline brushed direction

279

2 14 246 14
= |
= |
= |
= (=]
= |
= =]
= [
= |
= |
= |
= [e=]
= [a=]
= =]

- = =]
. = |
o = |
- = |
s = S
P = =
< @ F g x
) ~ = =
= =]
© = 1=}
H = =]
N = =1
= =]
= =]
= =]
= =]
= =\
= =]
= =]
= =]
= =]
= =\
= =]
= =]
= =]
167.4
6-04.5
248
ZEM / Back side
= =]
= [
= [e=]
= =]
= [e=]
= =]
= |
= =]
= =]
= =]
= =]
= [e=]
= =]
= [e=]
= =]
= [==]
= =]
= =]
=2 =
= =]
= [e==]
= (=]
= (=]
= [a]
= |
= =
= =]
= =]
= (=]
= (=]
= =]
= |
= =]
= =]
= =]
= (=]
= (=]
= |
ZEM / Back side
w4/ Title
TAKACHI) #st&itsnF BT RER o]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Top cover , Bottom cover

7R/ Approved 18X/ Checked X /Created

iR ES A

24 /Product number RE/Scale
W280 - D330 1:4
feFB/Date  2017/06/08 5/ 5




